www.HaryanaJobs.in

GOVT. OF NCT OF DELHI
Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi - 110092.
WWW, sb.delhi nic.in

Test Center Name: lon Digital Zone IDZ1 Mundka
Test Date: 10/11/2018

Test Time: 4:30 PM - 6:30 PM

Subject: ASSISTANT TEACHER PRIMARY

Section : Mental Ability

Q 4 Nithya's college bus is facing north when it reaches her college. After starting from Nithya's house, it tumns right twice
) and then left before reaching the college. What direction was the bus facing when it left the bus stop in front of Nithya's 5 .
e Question ID : 1626531229

Ans X 1. South
< 2. North
X 3. East
v 4 West

Q.2 Youare given two st and two Iusions. Choose the about lusion from the given options
below Question ID : 1626531219

Statements:

i) Allhill stations have a sun-set point.
ii)  ‘Village A is a hill station.

Conclusions:

L Village A has a sun-set point.
IL Places other than hill stations do NOT have sun-set points.

Ans o 1. Only conclusion I follows

& 2. Either I or II follows
/< 3. Only conclusion II follows

< 4. Neither I nor II follows

Q.3 Introducing a girl, Naveen said, “This girl is the wife of the grandson of my mother™. How is the git] related to Naveen?

A : Question ID : 1626531223
ns o 1. Father-in-law

< 2. Husband
< 3. Father
& 4 Grandfather

Q.4 Four students are sitting on a bench. Swathi is to the left of Reethu. Monika is 10 the right of Reethu. Ragavi is between
Reethu and Monika. Who would be second from the left? Question ID : 1626531238

Ans  of 1. Ragavi

X 2. Swathi
< 3. Monika
X 4 Reethu

Q5 Select the option that is relatad to the 3™ pumber in the same way as the 274 umber is related to the 1% number.

e Question ID : 1626531236

Ans X 1. 182
X 2 256
X3 84
v 4 128

Question ID : 1626531228

Q.6 [
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Find the missing number for the following.

9 10 13 14
7 16 25 15
12 12 22 2
274 500 1278 1321
Ans x 1. 20
X232
V'3 30
X428
@7 IfE=5, H=8 and HAT =29, then PAPER = ? Question ID : 1626531232
Ans X 1. 64
X2 46
X 3. 65
v 4 56
Q.8 Inthe following question, choose the venn diagram which best illustrates the relationship among three given items.
House, Kitchen, Bedroom Question ID : 1626531237

Ans

Ko

X 3.

F

GQRE

Q.9 Aryais 8 ranks ahead of Surya who ranks 26™ in a class of 42. What is Arya’s rank from the last? .
Question ID : 1626531226

Ans J 1. Zﬁth
X2 a7t
x 3. 23[&
X 4 6th
Q10 Find the odd one out. Question ID : 1626531221

Ans 1. Aroma
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/< 2. Fragrance

< 3. Smell
v 4 Feel

Q11 Choose the most appropriate alternative for the following.

A disease always has :

Ans X 1. Nurse
&< 2 Cure
& 3. Medicine
V' 4 Cause

Question ID : 1626531235

Q12 WWhich term of the series 5, 10, 20, 40 80, ..... is 25607
Ans x 1. llT'h

X 3 gth

x 4. gﬂl

Question ID : 1626531224

Q.13 ou are given a question and two statements 1and [L You have to decide whether the data provided in the statements are
sufficient to answer the question.

©On which date of month was Harish born in February 20007
Statements:

L Harish was born on an even date of the month.
.  Harish's birth date was a prime number.

Ans (1_

Data in both statements I and II together are necessary to answer the question

X2

Data in statement I alone is sufficient to answer the question

p 3

Data in both statements I and II together are not sufficient to answer the question

K4

Data in statement IT alone is sufficient to answer the question

Question ID : 1626531233

Q.14 IfX>Y. Y > Zand Z > W, then which of the following conclusions is definitely wrong?
Ans o 1 W= A

X2A>Z

X3Y>W

X4 A>W

Question ID : 1626531231

Q15 Find the correct water image for the following word.

HIDE
Ans X 1. EQIH
& 2. EDIH
v 3 HIDE
X 4 HIQE

Question ID : 1626531220

Q.16 A cube is painted gresn on all faces, It is cut into 64 smaller cubes of equal size. How many cubes have no face painted?

Ans (1_ 3
X216
X312

Question ID : 1626531227
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Q17 Choose the correct alternative for the following. Question ID - 1626531234

Skeleton : Bone : Nerve

Ans X 1. Leave : Flower : Sand
« 2. Eye : Retina : Pupil
X 3. Sugar : Milk : Drink
< 4. Snow : Cloud : Wind

Q_ 18 [nacertain code language CHILDREN is written as BIHMCSDO., then how will CHOCOLATE be written in that code?

A ) Question ID : 1626531225
ns X 1. BINDNMZSD

v 2. BINDNMZUD
& 3. BINDNKZUD
X 4 BINDNMBUD

Q.19 Two train tickets from city X to Y and three tickets from city X to Z cost T 77 but three tickets from city X to Y and two
tickets from city X to Z cost T 73. What are the fares for cities Y and Z from X respectively? Question ID : 1626531230

Ans X 1.%13,3 15
v2713.317
X3 315313
X4314,317

Q20 I the following question, a word has been given, followed by four other words, one of which CANNOT be formed by
using the letters of the given word. Find that word. Question ID : 1626531222
INTERNATIONAL

Ans 1. NATION
& 2. ORIENTATION
' 3 REACTION
X 4. RATIONAL

Section : General A wareness

Q1 7= ¥ o9 U aigfas TP o9 i seesar Seeara sty sty & )
SROTHEEST g ¥ § uied e # Question ID : 1626531250
Ans .
1.
AR
X 2 e 7 T

X o o e g@n
v o aiifeutas gar

2 : :
A2 frog R WieA FT AREET . H g F Question ID : 1626531257
A of 1 T

< 2 Tgar

X3 ofg
X 4 =@

Q3 The Indian Constitution has made some provisions for administration for states. Which one of the below is carrectly
matched?
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Ans (1_ l

Question ID : 1626531242

Article 371 C : Special provision with respect to the State of Manipur.

K2

Article 371 A : Special provision with respect to the State of Sikkim.

p !

Article 371 A : Special provision with respect to the State of Assam.

X4

Article 371 B : Special provision with respect to the State of Nagaland.

Q4 YWhich of the following pairs is correctly matched?

Question ID : 1626531240

Ans 1. Surat Split of Congress : 1908
X 2. Home Rule League : 1917
< 3. Bengal Partition : 1911
v 4 Lucknow Pact : 1916

Q.5 Which of the following statements regarding the Kakori Robbery is incorrect?

Ans (1_

Question ID : 1626531239

The members of the Hindustan Socialist Republic Association executed the robbery

X2

On 9 August 1925, ten men held up the 8-Down train at Kakori and looted its official railway cash

p 3

Ashfaqulla Khan, Ramprasad Bismil, Roshan Singh and Rajendra Lahiri were hanged

/< 4. None of the other options

Q6 yWhat is the full form of WPI?

Question ID : 1626531252

Ans & 1. Wholesale Price Inflation
v 2. Wholesale Price Index
& 3. Wholesale Parameter Index
# 4. Wheat Production of India

Q.7 Who is NOT associated with tradition of Hindustani classical music?

Question ID : 1626531248

Ans X1 Ghulam Ali
X 2. Ustad Abdul Rehman Khan

& 3. Lakshmi Shankar
« 2 Purandara Dasa

Q.8 NALCO is a Navratna company under Govt. of India. Which of the following is TRUE about NALCO?

Ans (1,

Question ID : 1626531258

NALCO stands for National Aluminium Company Limited

X2

This company comes under the Ministry of Labour, Govt. of India
# 3. It was established in 2001
/< 4. Its headquarter is located in Bhopal

Q9 Who discovered the vitamins in 19127

Question ID : 1626531253

Ans  of 1. Casimir Funk
& 2. McCollum

# 3. John Watson
#< 4. Fredrick Miser
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Q.10 Which state was formed first on the basis on language in independent India?
Ans X 1. Karnataka

Question ID : 1626531241

/< 2. West Bengal
/< 3. Punjab
4 Andhra Pradesh

Q.11 i isati i P
When was Indian Space Research Organisation was established? Question ID : 1626531256

Ans  of 1. 1969
X 2. 1957
X 3. 1963
X 41974

Q.12 Which of the following isi about upcoming Cricket World Cup (officially ICC Cricket World Cup)?
Question ID : 1626531245

Ans o 1. Tt will be hosted by Australia
~ 2

12th edition of the Cricket World Cup is scheduled in 2019
/< 3. The World Cup will feature 10 teams
& 4. Tt is scheduled from 30 May to 14 July 2019

Q13 B . B - - .
Who is considered as the father of statistics in India? Question ID : 1626531251

Ans 1. R.C. Dutt
< 2. Dadabhai Naoroji
# 3. N.R. Madhav Menan
' 4 Prasanta Chandra Mahalanobis

Q.14 The famous saying a government of laws and not of men is related to 3 .
Question ID : 1626531244

Ans X 1. Directive Principles of State Policy
< 2. Presidential Emergency
' 2. Fundamental Rights
# 4. Rights under Citizenship

Q.15 Below are pairs of famous sportspersons and the games they play. Which pair is incorrect?

Ans o 1. Neelam Jaswant Singh : Wrestling

Question ID : 1626531246

X 2. Dingko Singh : Boxing
X 3. Vijay Hazare : Cricket
/< 4. Koneru Humpi : Chess

Q.16 ez 93 # vs FEeaqy BEAr o7 S REew 7 3 ¥ wais i iEaEnE & e F
TeRRT d s sR T as T Question ID : 1626531249

Ans  of 1.
sisareds & 2T snfre, T s, AR 3R mEdE Wi ¥
X2
TR F fEh ey & sisames FEr S ar
X 3

zfiror am@Afem, ke, 2féior sme, AR oY serRfear @ o 91 ¥ ofivh RE & sizaenas
ET ST AT
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Q.17 Which Bharat Ratna awardee was famous as a Carnatic classical vocalist? .
Question ID : 1626531247

Ans 5" 1. Bhimsen Joshi
# 2. Ravi Shankar
# 3. Bismillah Khan
+ 4 M.S. Subbulakshmi

Q.18 Which one out of the following statements about Aryabhatta Satellite is incorrect?

Ans X1,

Question ID : 1626531255

It was built to conduct experiments in X-ray astronomy, acronomics and solar physics
/< 2. Aryabhatta was the first Indian Satellite

p 3
It was made by Indian Space Research Organisation

v 23

Aryabhatta was launched from Satish Dhawan Space Centre. Sriharikota

Q19 Bronze is an alloy of two metals, namely: Question ID - 1626531254

Ans " 1. Copper and Lead
+ 2 Copper and Tin
/< 3. Copper and Aluminum
/< 4. Copper and Iron

Q.20 Which asticle of the Constitution provided the power to the Parli to amend the Constitution and | dure?

Ans X1 Article 226

Question ID : 1626531243

< 2. Article 356
< 3. Article 108
v 4 Article 368

Section : Arithmetic Ability

Q.1 The digit in the unit's place in the number obtained after calculating 3°7 — 63% + 27°% is:

Ans X1, 4

Question ID : 1626531260

X 22
v 8
X 46

Q.2 Whatis the sum of digits of the least number that should be subtracted from 625355 to malee it a perfect square?

; estion ID : 1626531261
Ans x g Questi

X212
V3 13
X415

Q.3 7 men working 7 hours a day earn ¥ 17,640 in 8 days, then 9 men working 8 hours a day in 10 days will eam how

much money? Question ID : 1626531274

Ans 1. F 28,800
X 2. T35.280
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X 3. T34.560
v 4 32,400

94 The value ofa 0.18 + 0.23 — 0.183 is: Question ID : 1626531262

Ans of 1.0.237
<2 0.237
X3 0.327
< 4 0.327

Q5 A, B and C can complete a certain work in 10, 15 and 20 days respectively. B and C started the work but both left after
5 days. In how many days, A alone will complete the remaining work? Question ID : 1626531273

Ans 23
X

15

4
" £ E
6
13

Ko =

Q.6 By selling 12 articles, a person gains cost price of 3 articles. What is his gain percent?
Question ID : 1626531268

Ans X 1. 20%
V' 2 259
X 3 18%

50
P Nt
3 %

Q.7 The diagonal of a rectangle is 8+/5 cm. If its perimeter is 48 cm, what is its area in cm? ?

Question ID : 1626531271
Ans  of 1. 128

& 2 644/5
X 3320
X 4 160

Q.8 A train without stoppage travels at the speed of 90 kuv/h and with stoppage it travels at 78 ki/h. How many minutes the
PSR RARspT Question ID : 1626531276

Ans X112
X209
v g
<410

Q.9 The value of a machine depreciates every year at the rate of 12% per annum. If the present value of the machine is
T 36,000, what is the percent decrease in its value at the end of two years? Question ID : 1626531270

Ans X 1. 30.45%
X 2. 36%
v 3 22.56%
X 4.24.38%

Q.10 anarticle issnldﬂacminpﬂce.]’:‘yuﬂjngilat% of that price, one gains 8%. What is his gain percent at the original .
price? Question ID : 1626531269

Ans X 1. 40%
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X 2 36%
V'3 44%
X 430%

Q.11 A boat can go 15 km upstream and 50 kan downstream in 6 hours. If speed of the stream is 2.5 km/h, what is the speed
o boat insHll waler i kst Question ID : 1626531275

Ans of 1. 10
<28
K39
X412

Q.12 Each edge of cube is increased by 40%. What is percent increase in its surface area?
Question ID : 1626531272

Ans X 1. 160%
X 2. 40%
X 3. 120%
4 96%

Q13 A sum of T 4.342 is divided among A, B and C such that 2 times A’s chare, 5 times B's share and 6 times C’s share are

equal. What is the share of €7 Question ID : 1626531266

Ans X1 T 2,505
v Fg3s
X3 31,670
X 4 71,002

Q.14 Two vessels A and B contains spirit and water in the ratio 3 : 8 and 6 : 5. Their contents are mixed in the ratio 1: 2.
What is the ratio of water and spirit in the new mixmre? Question ID : 1626531265

Ans X' 1.11:10
v26:5
X310:11
X45:6

Q.15 The HCF of two numbers is 18 and their sum is 270. If both are three digit numbers, what is sum of their reciprocals?

Question ID : 1626531263

Ans
F 0 i
168

15
K2
56

5

i3 =

336
15

b O

224

Q.16 2 21042
Thevaiae 0f138 4+156°4194“—138x%156+156x1944+194%138 o Question ID : 1626531259

(13.8)3+(15.6)3—(19.4)3+13.8X15.6x58.2

Ans X 1. 1000
X 2.10,000
Vv 3 10
& 4100

Q.17 The average marks of 60 students of a class were found to be 64, Later, it was found that marks of two students were
wrongly read as 42 and 28 in place of 24 and 76 respectively. Then what is the correct average marks? Question ID : 1626531264

Ans X 1. 64.8
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X< 2 64.4
3645
X 4 642

Q.18 1rnumerator ofa fraction s increased by 170% and d is I by 30%, itt = What is the .
original fraction? Question ID : 1626531267

Ans

9
X1.ﬁ
X2
p 3

v &

B =1 W U

Comprehension:

The following table gives the marks obtained by 200 students in a
class test out of 80 marks. Read the table and answer the following
qustions.

Class 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Interval
No. of 20 28 32 40 36 28 16
Students

SubQuestion No : 19

Q1 i . . e .
5 Ifthe given data is represented as Pie-chart, what is Question ID : 1626531279

the central angle of the sector representing the
median class to nearest whole degree?

An X 1. 57.6°
S
X 2 64.8°
W3 720
X 4 50.4°

Comprehension:

The following table gives the marks obtained by 200 students in a
class test out of 80 marks. Read the table and answer the following
qustions.

Class 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Interval
No.of |20 28 32 40 36 28 16
Students

SubQuestion No : 20

Q2 . i "
o~ What is the mean marks obtained by students? Question ID : 1626531278

A K1 452
v 2 446
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< 3. 43.8
X 4 448

Section : General English

Q1 What is the ANTONYM of Waver? Question ID : 1626531289
Ans o 1. Resolute

&< 2. Falter

& 3. Dither

X 4. Vacillate
Q2 What is the ANTONYM of Appraise? Question ID : 1626531293
Ans  of 1. Neglect

& 2. Evaluate

X 3. Adjudge

& 4. Calibrate
Q.3 Fill in the blank with the most appropriate word.

If you drop out of the school, party all the time and waste your life, you have chosena _____ lifestyle. Question ID 1626531285

Ans

& 1. decorous
X 2. distinguished
/< 3. disguised
v 4 dissolute

Q.4

Ans

Identify the sentence that is set in active voice. Question ID : 1626531281

/< 1. The Veena was played by Naradhar.
/< 2. The Veena that Naradhar played.

& 3. The Veena was played.

« 4 Naradhar played the Veena.

Q5

Ans

What is the ANTONYM of Indigent? Question ID : 1626531291

< 1. Impoverished
& 2. Destitute
& 3. Insolvent
v 4 Affluent

Q.6

Ans

Choose the grammatically correct sentence from the below. Question ID - 1626531283

F R0

I am going to get five orange, six apple and ten peach from the store.

X2

I gonna get five oranges six apples and ten peach at the store.

P 3

I am gonna get five orange, six apple and ten peach at the store.

v 2

I am going to get five oranges, six apples and ten peaches from the store.




www.HaryanaJobs.in

Q.7 If you feel chilly, you might close a window that is letting in a draught l Question ID : 1626531287

‘What does the word draught mean in the above sentence?

Ans  of 1 A cold burst of wind
/X 2. A scorched spell

/< 3. A storm blowing from the sea
< 4. A bout of aridness

Q8 YWhat is the SYNONYM of Epithet? Question ID : 1626531290

Ans X 1. Trio
& 2. Parable
v © Nickname
& 4. Thesis

Q9 YWhat is the SYNONYM of Condone? Question ID : 1626531292

Ans X 1. Disallow
X 2. Prohibit
' 3. Excuse
X 4. Forbid

Q10 Choose the correct spelling from below. Question ID : 1626531282

Ans o 1. Embarrassed
X 2. Mysterius
& 3. Unconcious

X 4. Straigt

QM Choose the sentence with the correct punctuations. Question ID - 1626531280

Ans X 1. “Help cried” Sita!
X 2 Help! “cried Sita”.
' 3. “Help!” cried Sita.
X 4 Help! “cried” Sita.

Q.12 Which of the following adjectives can be used to describe an extremely strong, powerful, vigorous, intense emotion or
TRCH Question ID : 1626531288

Ans  of 1. Vehement
# 2. Timorous
# 3. Bashful
< 4. Apathetic

Q.13 Fill in the blank with the most appropriate word.
Question ID : 1626531284

The giants are stomping and roaring to life. hurling their bodies into each other’s arms.

Ans 5 1. sparse

W 2. colossal
X 3. infinitesimal
X 4 thrift

Q.14
Question ID : 1626531286
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The beawtiful damsel wore a splendid dress with broad bands of dun alternated with narrow stripes of red. .

What does the word gdun mean in the above sentence?

Ans X 1. Ornamentation
< 2. Decorative fabric
+ 3. Colour or pigment

/< 4. Bright embroidery

Q15 What is the SYNONYM of Diligent? Question ID : 1626531294

Ans X 1. Elite
< 2. Slipshod
& 3. Slack
v 4 Meticulous

Comprehension:
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ —a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved,” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there,” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 16

Q.1 . - :
¢ What is the main theme of the passage? Question ID : 1626531296
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Asn r 0

The importance of time in transplant of organs

# 2. Transplanting heart and other organs

v 3
Transporting organs at a fast pace by creating a green
corridor

54

Efficiency of Delhi police in transporting organs

Comprehension:
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ —a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor — a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to fransport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there,” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 17
Q.1 d G : : sg?
> What is the Delhi Police’s role in the whole process® Question ID : 1626531300
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An o 1.
Creating and managing the green corridor for the
ambulance

52

Blaring their sirens to cause inconvenience to
motorists

< 3. Escorting the ambulance carrying the organ

< 4. Driving the ambulance carrying the organ

Comprehension:
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ —a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there,” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 18

Question ID : 1626531299
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Put these steps of heart transplant in sequence.

A. transporting the heart from one hospital to another
B. harvesting the heart from a brain dead person

C. transplanting the heart in the patient’s body

D. securing the heart in a safe box and rushing it to
the ambulance

An X< 1. CABD
v 2 BDAC

X 3. DBCA
X 4 ABCD

Comprehension:
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ —a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved,” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there,” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 19

Question ID : 1626531297
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What does Jaikumar, the driver of the Ambulance
carrying a heart, fear the most?

An - X1,
S

The ambulance may develop a snag and not start
< 2. The condition of the heart may deteriorate
+ 3. He may get stuck in a traffic jam on the way
7< 4. The police may erect barricades

Comprehension:
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ —a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam.” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to fransport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there,” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 20

Question ID : 1626531298
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How much maximum time do the doctors get to
transport a heart from one hospital to the other?

/< 1. four hours
+ 2 three hours

< 3. one hour
#< 4. half an hour

Comprehension:
A fe&r 71T T1e@me g IO T WeAl & e’
g

g 7T A e Hiiged & Tl Fed &9 §F 47 7|
freg a8 A ACT-TTAIC FA & TE| 3H 8T H FAIUH
SHIE o Agcaqur Hy faar| 37 aeent ¥ fewdr wiigen
ﬁagr—ra?m#raj‘r—‘rg‘él ARCT-TTT F a9
FeT E H TEaR ¥ R ar g1 B AedenT 7
39 e & SO F T Eee Jdr &) A,
HITATERUT, TESTEAT 1 ZeTAT AT o] [oeeretsh, 9,
i @ R o1 R T ey & aae w1
A= 9T T@T AT 9] ﬁ%ﬁaﬂ'?mﬂﬁ'#?&ﬂﬂ
w s safeaes #r fuvand & gaa 919 a3 &

SubQuestion No : 1

! ‘ﬁ'@qa’ FT AT g & Question ID : 1626531306

X HE
X 2 gom Serer aren cafed

X 3 fear
v 4 g8 3B TTem Oed

Comprehension:
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A fadr o1 sreETy o vEel IO T weAl % 3o}
it

Smﬁg'gﬂﬁ'dlcch AIfged & U Feg FT a7 74T 47|
forrg a1 & FET-TTAT FA G TS| 3 AT H FIART
SHIEG # Agcaqul #d [Tl 3a aeent § fewar wifged
H wgd 95 ¥EE B I g5 AT F U g
FeT OET H UeaR ¥ B mar 8 B8y Aeeent A
37 foue @1 S3f = =t TR FET R A
FITATEI0T, TESTEAT & ZTdT AT o°TT| [9sahstss, Ta9r,
g & frure o3 fGar T fgws F S5 5
AANSF 915 @7 S 9T ﬁ?ﬁﬁg‘?ﬁ#?ﬂﬂﬁ
o TS sufaaes & frivant @ gog 9 a3 o

SubQuestion No : 2

** uRdg T F WiEeT F T T FT @ 4T Question ID : 1626531302
qr?

X g
X 2 g
W 3 Aldeh
X 4 3uaTH
Comprehension:
A @ 71T ey o TeaN IO T WeAl 3o’
e

Smﬁg'gﬂﬁ'dmch AMgeT & JUTT Feg FT Fo7 74T 47|
forrg a1 & FET-TTAT FA G TS| 3 AT H FIART
SHIE # Agcaqul #d [Tl 3a aeent § fgwar @ifged
H 9gd 95 FHE B I g5 ACTITA H U I
FeT OET H UeaR ¥ B mar 8 B8y Aeeent A
37 fouma @1 S3F = At TR @ R AR
FITATEI0T, TESTEAT & ZTdT AT o°TT| [9sahstss, Ta9r,
g & frure o3 fGar T fgws F S5 5
AANSF 915 T@T AT 9T ﬁ?ﬁmg&rqﬁ‘i#'ﬁﬂﬁ
o TS sufaaes & frivant @ gog 9 a3 o

SubQuestion No : 3

Q.3 : ¢
ﬂqﬂﬁg F e ATeH &+ ST H d-lsrcthihufi Fr Question ID : 1626531303
Crecofi-e

An r
S )‘{ 1. LH=Heg 3;*01

X 2 TR 2
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X 3 m
v FIET 9aE

Comprehension:

A fodr a7 arE@rer F 9ge 98 T Feal & 3ea}
ar |

HIg 9T A e Hiiged & T Fed &9 & I4T o7
frg a1g # FETT=TAT FH G TS| 3H AT H FIUR
TUE & HAgcaquT F¥ AT 37 Aeer ¥ fRedr anfeen
H g9 §3 ¥E H I g% AT F U= I=e
FeT A H TEaR ¥ B am g1 By Al A
37 e # S9 # ot T 87 R A,
FITST=UT, SEaTa=T &l 8T AT ol [asasis, 9a9re,
e 1 Fere o G man fReys ¥ sger #
AARSTF 99 T@T ST 9T ﬁ?ﬁ'm’g‘t’qﬁﬁ'#m
w st safeaes #r fevarsd & g 919 a3 &9

SubQuestion No : 4

U X AeF F Tt F FiF o sy o 22 Question ID : 1626531304
X S aaE @ T T AT T

X 2 gaers HIiE &1 Buer orsr

& 3. FITSI=RUT, JEATEaT S geTaT e o |
v

U FTeATET & e T =T F v
FreR R

Comprehension:

A fedr 71T T1e@me F gt IO T WeaAm & 3o}
=T

smﬁgg?rﬁmm TIfeeT & 9UT Feg F9 g AT o7
ﬁﬁfﬁlﬁ'ﬁ'ﬂl;ﬁ-mm@ FH @ TS| W &T H FIUFT
THIE & Agcaqul &1¥ BhaT| 3 At & fewdr afecd
H 9g 93 ¥HE B I g5 AT F AU g
FeT AT ¥ RArar ¥ B mar 21 T Aeeent A
37 Toue &1 =3t #7 &t TR @ B A
FITST=UT, SEaTa=T &l 8T AT ol [asasis, 9a9re,
e 1 Fere o G man fReys ¥ sger #
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SubQuestion No : 5

@ Rrw v TEETy F R @ osmew i

Question ID :

1626531305

0V - ST
X 2. 3o
X5 gaEe
K4 HIT

OO s 1 Rew g

Question ID :

1626531318

Ans 1. FwOT
X2 o
< 3 sfrgrsor
W 4 YR

Q.7

‘THET H FiT T THH 87

Question ID :

1626531313

Ars o 1 sredteTTE
X 2. TG

Xs.ﬁﬂl
X+ gge

W rexolr g F wemw

Question ID :

1626531316

Ans (1_ m
X2 ofrg
X 5 aEha
X4 T

Wz IR ReSE FEm

Question ID :

1626531312

Ans X 1. 3G + T
X2 3€ + AT
Wi 3+ 3T
Xa43d+T

Q.10

TEFT olec H 3T 8

Question ID :

1626531315

Ans J1_ q:ﬂ;[
X2d
X W

X4 Pd

TS AFIEEd ¥ U ST I H NS HU

Question ID :

1626531320

Ans xm W

X 2. |




www.HaryanaJobs.in

v AFRE H
X4 o

U2 o gEF AT @A B F BT U o gem

Question ID :

1626531319

Are - X1 N
X2 HOHA
V'3 apaofr
X 4 RO

P erERRT AT s T

Question ID :

1626531308

Ans X1- m.
X 2 T
v o Ry
X 4 FeT

U4 e 1 THEE ERRT T Y AT o A R

Question ID :

1626531317

Ans @K 1. TRITSRT
< 2. gaTeT
X 3. TohT

v T

O s RFw R & 5T

Question ID :

1626531310

e XK qerdETee
X 2 cofeqaras
V2 grEETEe
X 4 Ffaer=es

O R F FiF ar aee e

Question ID :

1626531309

Ans & 1. FHAT
X 2. HTER
v o TET
X 4 HTETSH

O mfafae F O FiF @ aee =S

Question ID :

1626531314

Ans X1 T
v o gEem
X 3. g
X 4 gEr

1 Crafafaa & 35+ $ e ¥ o= o T w2

Question ID :

1626531321

Ans (1_ Fﬂ?
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X2 TR
x> IR
X+ TR

O grr fFm YR @ TemT 37

Ans X1- :
X 2 ofgAmT a=w
5 TOTETER

X4 graetae

Question ID : 1626531311

O Srafaf@g F 9cEF e FiF T

Ans X1 gH
K 2. g3t
X o g
v gk

Question ID : 1626531307

Section : Subject Related

Q.1 Which statement supports the constructivist approach in learning?

Ans X1,

Students cannot focus on the interrelationship among concepts.

K2

Students cannot connect new ideas from previous knowledge.

p

Knowledge is passively received from the environment.

v 4

Knowledge is actively constructed by student.

Question ID : 1626531328

Q2 Ppersonality is the function of:
Ans 1. heredity alone
< 2. family and culture

X 3. environment alone
' 4. heredity and environment

Question ID : 1626531341

Q3 The first theory of intelligence wasa :
Ans o 1. single-factor theory

/< 2. two-factor theory

/< 3. multifactor theory

/< 4. three-factor theory

Question ID : 1626531337

Q.4 helps a teacher to become conversant with the objectives, classroom management and evaluation strategies.

Ans X 1. Psychological analysis

Question ID : 1626531322
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X 2. Sociological analysis
X 3. Anthropological analysis
« 4. Pedagogical analysis

Q.5 . . B B Cogl . . . . - . r)
Why is intrinsic motivation better than extrinsic motivation? Question ID : 1626531323

Ans X 1. Children learn due to fear.
/< 2. Promotes peer learning.

W 5. It accelerates self-learning.

< 4. Increases student discipline.

Q.6 The period of ‘industry vs inferiority’ given by Erickson is influenced by: Question ID - 1626531335
uestion ID :

Ans 1. society
# 2. the home environment
v ©. the school environment
& 4 guardians

Q_7 When a child watches a nature documentary the child may discover new animals and adds them to the existing group of
BT R B omocy, FHs el Question ID : 1626531334

Ans 1. schema
< 2. accommodation
' 3 assimilation

/< 4. equilibration

Q.8 According to Thorndike a child should NOT be forced to learn. He called this as the:
Question ID : 1626531331

Ans X 1. law of effect
& 2. law of cause and effect
& 3. law of exercise
v 4 law of readiness

Q_ If a child from non-English language medium of instructions changes to the English medium, she/he experiences
ety iening, Sheciralies Question ID : 1626531339

Ans

' 1 negative transfer of learning
< 2. positive transfer of learning
< 3. zero transfer of learning

/< 4. learning is not transferred

Q.10 3 : _
In the teacher-centred approach of education, discipline is: Question ID : 1626531326

Ans X 1. shared
' 2. imposed
& 3. self-controlled
/< 4. participatory

Q.11 According to Piaget’s cognitive development theory the approximate age for Pre Operational stage is:
Question ID : 1626531325

Ans 3 1. 7 — 12 years
W 2 27 years
< 3. 12 — 14 years
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X 4.0 =2 years
Q 12 Itis observed thata child is NOT able to do a task indep bt P it with the assi; of an adult, This is
. called:

Question ID : 1626531330

Ans X 1. the zone of influence
# 2. the zone of adult involvement
& 3. external influence
« 4 the zone of proximal development

O ey ¥ R ﬂ%r_cl'cl"\ﬂﬁ' gl Question ID : 1626531336

Ans x1_ AT
X 2. TEPR

V' ST
&4 garar

am Hear R 7 F4Ar g 22 Question ID : 1626531327

M o wEEl & wE aa
X 2 BIF AEIAFT F T FH Fa &l
X 5 O HEE & WY FH & ¢
X4 o TFTT T ¥ FH S 2

Q.15 Which law states that learning can only take place when a student is ready to learn?

Question ID : 1626531324

Ans  of 1. Law of readiness
& 2. Law of exercise
& 3. Law of effect
& 4 Law of use and disuse

Q.16 According to Piaget, problem solving ability develops in:

Question ID : 1626531333

Ans X 1. the sensory motor period
' 2. the formal operational period
/< 3. the concrete operational period
< 4. the pre-operational period
Q17 Reinforcement to the students should be given: Question ID : 1626531332

Ans 1. at the end of the day

&< 2. in front of other teachers
' 3 after the desirable behaviour is exhibited

X 4. in the morning assembly

Q.18 Teaching methods like discovery method and activity method develop:
Ans x 1 jIltElligEIlt ﬂ]jllkjllg Question ID : 1626531340

« 2. divergent thinking
/< 3. convergent thinking




www.HaryanaJobs.in
/X 4. convergent and divergent thinking

Q.19 Aninfant starts erying when her grandmother tries to take her from her mother’s lap. The child cries because oft

Question ID : 1626531329

Ans X 1. emotional anxiety

' 2. separation anxiety
X 3. stranger anxiety
< 4. attachment

Q20 The theory of moral judgement was put forward by: Question ID - 1626531338

Ans X 1. Kohler
& 2. Thorndike
' 3 Lawrence Kohlberg

X 4 Skinner

Section : Subject Related

Q.1 Teet & wEd sftEnide i Repe wag & @ ¥ Pefw w9 R, 5 o R
(T, st frew ¥, 2011) & afer ¥ S P B Question ID : 1626531355

e K ST
X2 wrgferar
p 3
o aAeE-anfie geefd ara 5=

v ¢ frereT =

Q2 Consider the following options and select the best option.

: R : : Question ID : 1626531346
The aims and objectives of contemporary Indian society are:

Increasing productivity

Social and national integration

Acceleration the process of modernization
Developing social, moral and spiritual values

Ans 1. a, b, candnotd
X 2 ac dandnotb
v'3 ab.candd
/< 4 a b,dandnotc

=T S =

Q3 :
qSTSH H FIT gHTESE [5.'7 Question ID : 1626531356

v Rvg-asg, B, s, semes
X s Rwgarg, awwEh, wafafto, fee
& 4. farevor fET, grEEh, o

Q.4
Question ID : 1626531348
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has endorsed the provisions, prescribed as.

Equal access to education for women and girls

Special measures will be taken to eliminate discrimination
Universalise education

. Eradicate illiteracy

Ans «1_

The National Policy of Empowerment of Women, 2001
/< 2. The National Policy of Education, 1986
/< 3. The Right to Education

e oR

& 4 The Women Empowerment Policy

Q.5 Which of the following is correct response about outcomes and objectives? .
Question ID : 1626531358

Ans X1,

Objectives and outcomes should be achievable.

X2

Objectives and outcomes should be measurable.

< 3.

Objectives should be measurable and outcomes should be achievable.

v -

Qutcomes should be measurable and objectives should be achievable.

Q6 g
i & 9 & anodhr siffe & v e fweror Rrer & fow a2 g Question ID : 1626531343

MK ot @ e e
& 2. FET FI TSRS FLAT
v 5 zaTaEiie fANeTUT & 3T FEET
X 4 g8 TTAT ST T

Q.7 % o S e T, 39, S, i ST At e, sy # s,
o affendt & Fifee s § Question ID : 1626531350

s X areTiere faeTreter
v gATTeE feHe
X 3 grTae seed
X 4 FrTSeRdr o

Q.8 Which of the following is important aspect in communication through technology?
- - i - B Question ID : 1626531360

Ans X 1. Receiver
& 2. Sender
v 3 Feedback
/X 4. Message

The term resent ches that focus on opening access to education and training provision. freeing leamers
Q.9 e T i i L i
from the constraints of time and place, and offering flexible learning opportunities to individuals and groups of leamers. Question ID : 1626531349

Ans 1. distance and continuing education
< 2. online learning
+ . open learning and distance education

< 4. virtual learning
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Q.10 The Rehabilitation Council of India (RCT) Act (1982) passed in the Parliament, was created to regulate manpower
development programmes in the field of g

Question ID : 1626531353

Ans 1. education for orphans
' 2. education for individuals with special needs
/< 3. education for delinquents
& 4. education for tribals

Q.11 The main postulates of the (Equal Opportunities, Protection of Rights and Full Participation) Act.

" Question ID : 1626531354
Ans X 1. Education for All

' 2. The Persons with Disabilities
/< 3. Right to Education

/< 4 Discrimination in Education

Q.12 _ TEw (v Am, w9, 7 HR s & 5l @ 9w e & B gree-fen A F
ot & fv oF g e B Question ID : 1626531345
s XK1 Rrew @ MRS
v 2 il e

X 3 gr aTH FER
K 4 TR HeTEIar

Q.13 =7 # ot wsfat & 5F g A s w0 § wvee o & B 50 & e & aeg
e #7 Question ID : 1626531347

Ans X1_
SIS, BTF T S, &edT o 98T T
K2
aiaits R, wE-Ren, ey A oifE gl wem s

Vs

&y 3l sfaard R, odifte glawre, #fger Rem & Ggfea

X4
Frar-Rar #r Rfdra e, danst @ gAde wE, Yok J FAr

Q.14 Arrange the curriculum design process from following points as per the logical sequence.
Question ID : 1626531357
Ans  of 1.

Content planning. objectives, methodology, assessment. evaluation, feedback

X2

Objectives. methodology. assessments, evaluation, feedback, content planning

X 3

Content planning, objectives, assessment, methodology. evaluation, feedback

X4

Objectives, content planning, methodology. assessments, evaluation, feedback

Q15 What is full form of MOOC? Question ID : 1626531361

Ans 1. Massive Open Online Content

/< 2. Massive Online Open Communication
/< 3. Mass Open Optimal Communication
« 4 Massive Online Open Course

ae F==IT TV =T 3HeIT 3527 F4T %’7 Question ID : 1626531342

Ans
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X 3=y 9 = Tefde s

v 2

NT 3T feamr & &9 gEeaw dv e efag wwer
3.

wgﬁwmmmmmﬂmmﬁmm

< 4

HES TATELT, [IET, TREHIT AR Ear B Awfaa w

Q.17 Atthe secondary stage, the state governments should adopt and vig Iy impl. . the thres lang formula. This

recommendation was givenby the . Question ID : 1626531344

Ans X 1. NCF
2. Kothari commission
v 3. NPE
& 4 Education Commission

is an effective strategy of i ional apy h that emb the needs of academically diverse populations of
students, m particular students who are gifted or who have disabilities. Question ID : 1626531351

Q.18

Ans - X 1. Modified instruction
v 2. Differentiated instruction
& 3. Remedial instruction
& 4 Individualised instruction

Q.19 is a process that helps to overcome barriers limiting the presence, participation and achievement of leamners.

Question ID : 1626531352

Ans 1. segregation

/< 2. mainstreaming
/< 3. integration

v 4 inclusion

Q.20 H H = M 0
What is the requirement of curriculum development? Question ID - 1626531359

Ans X1_

To change the old curriculum and implement new practices in it

<2

To follow the norms given by education commissions

p 3

To meet global standards for employability of students

v &3

To know the needs of changing society and provide education for sustainable development

Section : Subject Related

Q1 : L ; : =
Which of the followingis NOT applicable to internet safety? Question ID - 1626531363

Ans 1. Changing passwords regularly
« 2. Updating status during picnic
/< 3. Child lock system
& 4. Use of antivirus software
a? HTHT ﬁﬁ? JTeRT T AT %I Question ID : 1626531378

Ans
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X1 ey
X2 dRos
X 3. AT
VR

Q3 Multiple choice test is an example of: Question ID : 1626531368

Ans X 1. Intelligent thinking
< 2. Random thinking
' 3. Convergent thinking
/< 4. Divergent thinking

Q.4 Fouryear old Ria could fluently speak Bengali other than Hindi, her mother tongue. Nobody spoke Bengali at home
except for two maids at the day care she went to. How did Ria leam to speak Bengali? Question ID : 1626531373

Ans 1. She was taught at the day care
X 2. Her friends taught her
/< 3. The maids at the day care taught her
« 4. She picked up the language from the maids

Q.5 Students use their fingers to calculate numbers. Which maxim is used here?
Ans

Question ID : 1626531380

/< 1. From simple to complex

' 2. From concrete to abstract
X 3. From particular to general

< 4. From known to unknown

Q.6 Which part of the Constitution contains provisions related to language?
Ans X119

Question ID : 1626531369

X220
V3 17
X418

Q7 : ; : : B
Which one is NOT an appropriate option from the following? Question ID - 1626531365

Ans 3 1. Write a movie review : Critical thinking
X2
Write a blog to express views : Creative thinking
« 5. Prepare poster : Problem Solving

F
Prepare presentation : Interpersonal relationships

Q8 pow many languages are mentioned in the 8™ schedule now? Question ID : 1626531376
Ans K120

X218

V'3 22

X4 14

Q.9
ST fRveqOT FT 27 Question ID : 1626531374
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MoK siafEfea et
X 2. STepferen e
X3 AT R
v ¢ sitrenfye e

Q10 forarent = RY&T0T F FEEHIERAT FT ST FAT FAT TRT?
Ans X1,

Question ID : 1626531364

affea adle F1 g o7 ¥ 39T
v 2 A, @S AR s Fr @

X 5 ARH FA & AT FT FHA FLAT
X o FOFTH Hgwar Fr Fsor

Q.11 == o9 =xafiya &7 § ®r d#w st a% #r seg fawfia sxa9 § ar o a7 &g sar §7
Question ID : 1626531381

s X T Rl #war
v 2. feraefer Tfemior
X 3 plerer fawfag F@T
X 4 erE AR gaEgar

Q12 WWhat are the steps of ADDIE model? Question ID - 1626531367

Ans (1_

Analysis, Design, Development, Implementation, Evaluation

X2

Application, Design. Development, Implementation, Evaluation

p

Application, Development, Design, Implementation, Evaluation

< 4

Analysis. Development. Design. Implementation, Evaluation

Q.13 il R . g
What is a disadvantage of computer-assisted language learning? Question ID : 1626531371

Ans X 1. Used for remedial teaching
v &)
Less interaction between student and teacher
< 3. It can be expensive

< 4 Less motivation factor

Q.14 A= F TAT TEOT #=4 F v TEe § ¥ al w s e
e Gl Question ID : 1626531362

Ans x 1. = =

X2 e

v ERe

X4 BRHE
Q15 What is the use of drill and practice software? Question ID : 1626531366
Ans

« 1. To practice facts and remember procedures
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< 2. To make clear understanding of concept
/< 3. To repeat content till understood

X 4 To remember content

Q.16 =fz F1¢ o7 7% 19 F@sr F FAEN F7 WA &L @ L, A W9 IFE AEE FH w07

Ans (1_

Question ID : 1626531370

TS o WG THT ToL.TH.IR.5eed, PN F HAH FLA

X 2 gEdr ueSEer
X s

38 HIN AT S F S FHeAlF H START FA & AT Fgar

< 4
ATGHATST AT A3 ST & SATHIOT & JAaAT LAl

Q.17 What is the reference of following objective? .
Question ID : 1626531379

‘Students begin to perceive the structure of mathematics as a discipline’.

Ans X 1. NPE (1986)
X 2. NCF (2005)
X 3. NCF (2009)
' 4. NCF (2000)

18y At W, g s R FW w B 2 Question ID : 1626531377
s X1 sareR-TaeroT

< 2 ffeaEa

v T HES

X 4 HEATea & fRreerwor

Q.19 According to the three language formula, what should be the first language?

Question ID : 1626531375

Ans X 1. English
X 2. Hindi
X 3. Any modern language
' 4. Regional language/Mother tongue

Q20 What makes discussion more effective? Question ID : 1626531372
Ans X 1. Debating attitude
v

Discovering unknown factors and tolerance of views
/< 3. Interaction among the participants
# 4. Control of a teacher

Section : Subject Related

Q1 YWhat skills are developed by a mathematics education?

Question ID : 1626531383

Ans  of 1. Problem solving, creative thinking
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/< 2. Decision making, creative thinking
/< 3. Problem solving, inter personal relationship

/< 4. Decision making. problem solving

Q.2 According to Selman, self-reflective perspective taking sets in the age group of:
Question ID : 1626531399

Ans X 1. 14 — adults
W 2 7—12years
75 3. 10— 15 years
/< 4 3 -9 vyears

ch o lowing statements is NOT TRUE in context of the main objectives of teaching environmen
) ‘Which of the following i in the fth in objecti f teachin i tal
FnESiOn mTheprmry Aevel? Question ID : 1626531388

Ans X1,

To understand interaction between the various elements and components of the environment.

X2

To build understanding, awareness and sensitivity towards causes and efforts of the class that.

< 3

To know and understand the interaction between mammals, between homans and their environment.

v 2

To know and understand true aspects of the life education.

Q4 T=fafEs & ¥ #iF o 3fga o=t & FT T TH IUET FoET 7
i e Question ID : 1626531401

e o e (St
X 2 grsfefr
X 3 FfRrET
F
HPRIcHF HIASNH STIER F AT FH

All of the organic and i i p ding us, as well as the events, conditions and processes of their
Q.5 - :
interactions, are collectively knownas . Question ID : 1626531384

Ans X 1. biological components

< 2. the ecosystem

/< 3. material interchange

« 2 the environment

Q6 —
TIETOT HEITA I H HET 32T FRw__ ® Question ID : 1626531387

Ans (1_

AT A wea T dTEnh i O mTA - aRfuiaet o meemedt & wee,
oot fveior e, T T e wemret oS S

p 2
e @ & 5o gwew Rdvant & &fewr @i s @
< 3

gudt 3R s # W weanst F &wS gU, 3 FRvl AR R #r ffa s

K4

FIH FATE-ATTE IO & AEeay TEeT # W w0, T gwen Rt sweet # weee

Q.7 @ e # 9Ew & BT s9E s & B wey s e # @ e whw e
=T UF THN ¥ I viA T F RBv afanfdt st oot v e s 6 Question ID : 1626531386

e X aEg Fr aifereferar
X 2 gfrsar &t
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v 3 qode Ay e
X4 g ars afde

Q.8 oI F I T ¥ w5 wE w AR ¥ e o e @ w=a § o swe,
SR AT FRER AR & w9 § W e ' Question ID : 1626531389

s X e arE
X 2 FAETferar e
v o grATRe T
X4 g wE

Q9 Outdoor games are the best solution for: Question ID : 1626531397

Ans X1_

developing psychomotor skills among the students
X 2. making students healthy

p g3
keeping students away from mobiles and technology

v 2

teaching students how to accept loosing situations and improving intrapersonal relationships

Q.10 i "ne i vity?
‘Which of the following is the best example for creativity? Question ID - 1626531393

Ans (1,

Trying to create your own musical instrument by using seven ceramic bowls with water such as a Jal Tarang

/< 2. Performing a new role in a skit
/< 3. Playing a new tune on a guitar

X 4. Listening to new songs

Q.11 Inthe peer acceptance aspect, children who receive equal number of positive and negative votes are called:

A ] _ Question ID : 1626531400
ns  of 1 controversial children

X 2. neglected children
X 3. rejected children
/< 4. popular children

Q.12 '
fehdeh ST YOI fehelNraree 31 & aTeX femms 2 &2 Question ID : 1626531398

K T e (@et-aiee ee)

X 2 ofd e

v &)
frrlie oo Aww (Rads aver-wisa sTewee)

X4 wErEdt e

Q13 : -
What is regional art and craft? Question ID : 1626531392

Ans (1_

Art originating among the people of region. reflecting their traditional culture.

< 2. Art and craft related to a particular region.

& 3. The art we can see at various places.
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X 4
Modern art influenced with traditional approach.

Q.14 . :
Teh TIHETe 370 et & 3eaeTs T[OT F=T &2 Question ID : 1626531391

Ans X1,
FFERE AVaaT # H0 O § YHload, SAWED # U cAted

X2

[ATST U, SATF FI T AT, UF HA=oT AL Beyor Fr ozf 7 v e

W 3

FFRTAF degar, #T oI AR wrETeE 7E A T FHe F FY gateed

X4

Q.15 " ¢ :rige
How can you observe a student for gardening activities? Question ID : 1626531395

Ans « 1.
Right from the beginning till the end of the activity

/< 2. While preparing for gardening activities
< 3. During his activity time
< 4. After completion of the gardening task

Q.16 R g wapt & B ¥ @5e Torea & wEw et 3 - ane F e, e T &
SRR, #AY SEAA F F93, A Hiw, T dv, RsfEE e d Question ID : 1626531390

e o1 T B gt e
X2 gfasg & A F & F el
X o rEples T
X 4 TIT o gAsT

Q.17 waior Fre spemaw # F3 3t agealw o9 ¥ 77 gEw = ¥ e g W SRE

Ans «1_

Question ID : 1626531385

waTE # s zva, e oot & @ sy i siErr, ST | A
K2
p 3
Spta® T SiE amaeredt A 9gweT & FRor FRoT i ahors
X 4

JTETEr, TR, =0T, HHEUT Y99 Hr FAET

Q18 Praff@e & ¥ #i9 @ A ReEe =& dea | anaia 22 Question ID : 1626531382

Ane X 1. carEaTe OE T
v 2 goTm mET &
X3 HETHATCAS 3R AeAAeAs Bt
X 4 eI Heerwor fafer

Q.19 o At F Fog # o= F 7 o OFlT 79 F O 5= T o wea 27

Ans (1_

Question ID : 1626531394

T S T F TG F A0 R O w0 W S T 3R St w0 # 39 BEa a
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X 2 For T Fr Afard 9T

< 3.

FoT [T e Irer oTEr F HANFT FE AT
X4

AT & ATA F TG F OFT F F AGed F qL H O F A0S AT

20 :
@ TIeT SIET Hr Hco, gh‘?l’ hidl %"’ Question ID : 1626531396

M T At TERE wT @ Ay

X 2 e+ AT
X o it freaw # gfe

X 4 g afafafEt & afew @

Section : Subject Related

Q.1 # Ar-foan F o # amumet ¥ H Ror o &, F= UF F TIE
b L = Question ID : 1626531421

A o STt F @
X 2. Frar-faar $r fBrer st @
K3 FaETEgra

< 4
THe % T H aredee HE & aR H FF AwSA

Q.2 ser-mEer AR weE-TEEE R # o=t & B Gefafle AR A @ s afme
Question ID : 1626531413

s X 1. et i sfR=ntEa
v 2 AlcE ¥ HEE
X 3 g wiafear afafafimr
X 4 gre afafafoa

Q.3 g femmw & w0t F gus ¥ =0 F FeRfEe & @ &9 7 a=w w8 a6 2

Question ID : 1626531418

MK e #r affe R S Fer
2
Rerert F T g@eror 3t AT g9 3AfSE w =
p !
AT Reterr, eyt v Fiar-Rar & ofde &=
X4

T # I A T T A6 @ T A At At F e # G a=e

Q.4 What is the minimum requirement from school to deal with health related problems?
Question ID : 1626531407

Ans X1_

Awvailability of a doctor in theschool premises

< 2. Funds available for health issues

W 3

Teachers, school nurses, parents and children have basic knowledge about managing respiratory infections, asthma, and
diarrhoea

X4
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Good structure of a school building and sanitation facilities

Q.5 i B
Which of the following can be the best place for aschool? Question ID - 1626531404

Ans o 1. Away from pollution
< 2. Out of the city

/< 3. In a natural environment

' 4 In a locality safe for students

Q.6 - r
Figw gHGT FT AR o e 9 # HHS T 87 Question ID : 1626531403

MK T F Tt
X 2 grferat #r FesatEr
X 3 gifdat T gE T
v o gferar @ IcdEs

Q7 Who is responsible for health of the child in school? Question ID - 1626531405

Ans 1. Doctor in school
v 2 Headmaster
& 3. Class teacher
< 4 Parents

Q8 Who recommended the inclusion of skills-based health education, life skills, child-friendly/health-promoting schools?

Question ID : 1626531408

Ans K 1. NPE
& 2. NCF
X 3. NCF (2000)
v 4 WHO
Qg S mandated by the Right to Education Act (_R’I'E) 2009, have a critical role to play in ensuring accountability in
S Eba A ¥ et povarib perculy 1D i nCRpeotAnit iy Question ID : 1626531415
Ans

+ 1. School Management Committees
/< 2. School Monitoring Council
& 3. School Meeting Centre

/< 4. School Management Council

Q-»]O - - * -
SHE TRo aUS & HEH WIEEE Hehde T 87 Question ID : 1626531417

Ans X1_
carEEie ST, TR, A7 F FE, THEIS dEiER
X 2 g fawenr 7 ® #5 J4r

v &)

K4
IS &HaT, culageg e, €15 & F1H, gEdiLE gaed

Q.11 = finer # R aRRfw For 77 3 PR vt = B ww § e

Ans X1,

Question ID : 1626531411

TaET fAEnwr, ARyt @ R B o § 9w she el wer
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K2
gfevar i wrETie FAEs AR aEafawar 1 RET G &
X ofdas & R # Acs F = F

v 2
3ET H UER ST AR gaTar #r TfaT AR e &

Q.12 TG FEE $ ITEEUT & WUT T A T i awt & Fhe & e den )
Sfis, F9E, WA A1 Y meS ¥ e At # onfAw w5 ) Question ID : 1626531410
Ans « 1 5 ﬁ,
X 2. OTHEOF FRr
=
X 3. gmESE
X o I T
Q.13 . : .
Popular pro-social children: Question ID : 1626531402
Ans

+' 1. show academic and social competence

& 2. are authoritative

< 3. are dominating

/< 4. are athletic and physically well-built

Q.14 == veum ST & srufde e P & gee el & PeeaTee At ¥ e § S
5 o Question ID : 1626531419

Ans x1_ .

X 2. g=r HT |EgeET
v @y R
<4 T gEUT

Q.15 is a necessity in enhancing work performance and motivation of teachers in the field.

Question ID : 1626531414
Ans

/< 1. Increments based on performance

< 2. Reduction in workload

« 3 In-service teacher training

/< 4. Summer/Winter school

Q.16 . % T
How should children be protected from ultraviolet radiation? Question ID - 1626531409

Ans 1. Arranging nature visit camps
+ 2. Planting shade trees around school grounds
/< 3. Allowing ventilation in the class
< 4. Taking students on ground
T e e R e e kO e S Sk s Question ID - 1626531406
under:
Ans 1. Procedural policies of school

/< 2. Financial strategies of school
/< 3. Aims of objectives of school
« 4. Specific intervention strategies of school
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Q.18 = el ofv oraSfad we-aete §9% & §9 # SR B e § S @ ar aier &
T ot # o ifE, AT, SEAREE T AE ATt S a1 2 Question ID : 1626531416

Ans XT 7 E *
X 2 HHEdS TEOHas

X 3 gEefEe TETEeT O
v & THE W AENGRT

Q.19 o=t # & 78 sfmsET Gt &
Question ID : 1626531412

amﬂhﬂiﬁm%wﬁm#mw@mmﬁmgﬁmm
b. 3Tz Frgst & s wE FE v SR SR wE

o g ¥ v ot & =7 i@ &= g o ¢ a3 T b

Ans x13ﬁT3~ﬁT ?
X2 Fea (Afaw) frew

v 5 e
X 4 It e
Q.20 Whmﬂaﬁrﬁvﬁ?ﬁw gﬁﬁamtﬁvamﬁmﬁﬁﬁﬁamt
o #| Question ID : 1626531420

Ans x1ﬁﬁ-iﬁ-m
X 2 TFHo & gionH

v 3 arar-far $r afafEar
< 4 Fhel FER






